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(i1)

(iii)
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(v)

AT ST B W foh 39 TA-99 § gfgd I8 23 F |
Please check that this question paper contains 23 printed pages.

FUAT = H A Toh 30 IH-9T H 38T B |

Please check that this question paper contains 38 questions.
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Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.
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ford |

Please write down the serial number of the question in the
answer-book before attempting it.
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15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.

forT (A) i

MATHEMATICS (STANDARD) [
feiia aa : 3 g2 STferBan 3% : 80
Time allowed : 3 hours Maximum Marks : 80

15-30/5/2 P.T.O.



[=1 4308
=
=L

HTHT 3397 :
HET1TEGT 39T 1 S8 TIaeH] & 91T 3R 377 G&d] d i Hilag :
(i) 3T ¥I7-97 § 38 y¥7 & | @4 ¥v7 SifAard & /

(i) TBIH-TT GG G@USI 8 [QAyifGia 68— &, @, T, 909 & |

(iii) @S & H Y97 §&1 18 18 T% aglasedid (MCQ) @97 ¥97 &&I7 19 Tq 20
ST Ta a9 STIIRT 1 37% & F7 8 |

(iv) @S W H 97 q&Ir21 @ 25 % 3717 TG-ITIT (VSA) ¥HR & 2 37l & J97 & |

(v) TUE T H ¥97 G&IT 26 @ 31 7% TY-FH1T (SA) JHR & 3 37 & Fo7 & |
(vi) TS G J97 G&I132 T 35 T H-371T (LA) TR & 5 37Hl & J97 5 |

(vii) U & 4 J97 G&IT 36 T 38 TF JH{U 377 STIRT 4 3F] & 97 & | Jcdh
GHT 37eTTT H 3TaRF [dhcq 2 3] & 97 4 1397 731 8 |

(viii) ¥99-Y7 § GHY [dHeq 787 137 731 8 | JEfT, @vS @ & 2 Yol H, @S 7 & 2 ¥l
H GU8 g &2 ¥ 7 a9 @8 & & 3 oI 7 Ak [aebeq T FiEaeT 1797 a7

g/

(ix) & STTvIH &1 L= Pl G975T | T8l avqH & = 22 s, afz s

7 e T &1 | !
(x)  @oPpad H ITINT qicid & |

«usg <h

39 @V H Fglascdid 397 (MCQ) &, 574 Jcde J97 1 37 %7 & | 20x1=20

1. 3G o dA B RIS p(x) = kx2 — 30x + 45k o [ & A o + P=af @, dl k

HIAAE T
2 3
A - 3 B - 3
3 2
(©C) 3 (D) g
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(it)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. X 22 ) :
Draw neat diagrams wherever required. Take © = - wherever required, if not
stated.

Use of calculator is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

If o and B are the zeroes of the polynomial p(x) = kx2 — 30x + 45k and

o + B = af, then the value of k is :

A -— B) -

Do | o

3
(C) 5 (D)

W N

15-30/5/2 P.T.O.
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2. 10 cm Brsa 91 T I I TH AT, IO b ohg T TRV AN L @ | Al
StiaT <R AET8 (ecm W) @ :

(A 5V2 (B) 1042
5
c) D) 5
C) 72 (D)
3.  THIA A 7, V28, /63, ... 1 AT (FNAT) IS R :
(A) 70 (B) 84
C) 97 D) 112
4. AR T T§-3UST T3 I PHBA 553 &, al 31 4.9, (HCF) B :
A 1 (B) 553
< 7 D) 79

5. Ifd x=acos0 AT y=bsin0 B, @ b2x2+a2y2 FIAF T :
(A)  aZb? (B) ab
©) a'h? D) a2+ b2

6. 3fg fgam Tl ax? + bx + ¢ = 0 % o IRl 3R THME g, Al ¢ I AH
-

b b
(A) o (B) ~ o

b2 b2
(C) Tn (D) " ta

15-30/5/2
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2. A chord of a circle of radius 10 cm subtends a right angle at its centre.
The length of the chord (in cm) is :
A 52 (B) 10v2
© = ® 5
V2
3. The next (4th) term of the A.P. ﬁ, x/%, x/@, .. 18
@A 70 (B) /84
©) 97 (D) 112
4, If the product of two co-prime numbers is 553, then their HCF is :
A 1 (B) 553
(&) D) 79

5. If x=acos6 and y=Dbsin 9, then the value of b2x? + a2y2 is:

(A)  a?b? (B) ab
(C) a%h? (D) aZ+ b2
6. If the quadratic equation ax? + bx + ¢ = 0 has real and equal roots, then

the value of cis :

b b
(A) o (B) - o

b2 b2
(C) i (D) -

15-30/5/2 P.T.O.
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&l TS AT H, A ABCH, DE || BC? | AC AD = 2:4 cm, DB = 4 cm 1
AE=2cm&e, d AC I &« ? :

10 3

(A) ?cm (B) Ecm
©) %cm D) 12em

12 cm F559 a0l 990 61 T AW 10m cm @ B | 3 9@ GRI I % g W
AT I R

(A 120° B) 6°

(C) 75° (D)  150°

Ifd 4sec0-5=0 %,?‘ﬁ cot O 1AM 7 :

3
(A) 1 (B)

SN

5
(®) 3 (D)

LR TN

21 cm =31 9191 990 % 39 BSI@US, S A oh g T 60° T HIV AN
AT |, Bl UIATT B :

(A) 22cm (B) 43 cm

(C) 64cm (D) 462 cm

15-30/5/2
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In the given figure, in A ABC, DE || BC. If AD = 2:4 cm, DB = 4 cm and
AE = 2 cm, then the length of AC is :

10 3
(A) ry cm (B) 10 cm
©) % cm D) 12em

The length of an arc of a circle with radius 12 cm is 10n cm. The angle

subtended by the arc at the centre of the circle, is :
(A)  120° B) 6°
(C) 75° (D)  150°

If 4 sec -5 =0, then the value of cot 0 is:

w

(A) (B)

Lk o

4
5
© 3 (D)

The perimeter of the sector of a circle of radius 21 cm which subtends an

angle of 60° at the centre of circle, is :
(A 22cm (B) 43 cm
(C) 64cm (D) 462 cm

15-30/5/2 P.T.O.
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12.

13.

14.

15.
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& 7S e H, RJ 991 RL, 99 W @i 78 1 wsi@rd § | gfe £ RJIL = 42°
g, @ £ JOL AM & :

(A)  42° (B) 84°
(C) 96° (D) 138°

g 2520 T AT PHETST 23 x 328 xbx7 8, A a+2b & AF 7
A 12 (B) 10
<© 9 (D) 7

gl ™ 3x + 4y =5 AAT 6x + 8y = 7 g (AHAfifad # & fhg bR
& T W@ fefia 8 @i g 2

(A) THTHR
B) yfa=ad
(C) HYTdl

(D) ThHGEL o e

T A, frEH 19 40 I 3ford Ehd 7, 1 € TG0 Th feehe fepTetl STl
7 | Tenrett 18 feehe i 2ifcha T & 7 3T U BiF oh! IRl & :

1 1
(A) - (B) 3

1 7
() = (D) o
T TS 28, 44, 132 H1 A.°. (LCM) B :
(A) 258 (B) 231
(C) 462 (D) 924

15-30/5/2
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11. In the given figure, RJ and RL are two tangents to the circle. If
Z RJL = 42°, then the measure of £ JOL is :

(A)  42° (B) 84°
C) 96° (D) 138°

12. If the prime factorisation of 2520 is 23 x 32 x b x 7, then the value of

a+2b is:
A 12 (B) 10
(G) Dby 7

13. Which out of the following type of straight lines will be represented by
the system of equations 3x +4y =5 and 6x +8y =7 ?
(A) Parallel
(B) Intersecting
(C)  Coincident
(D)  Perpendicular to each other

14. One ticket is drawn at random from a bag containing tickets numbered
1 to 40. The probability that the selected ticket has a number which is a
multiple of 7 is :

1 1
A = B =
(A) 7 (B) 3

1 7
C = D —
(®) 5 (D) 10

15. The LCM of three numbers 28, 44, 132 is :

(A) 258 (B) 231
(C) 462 (D) 924

15-30/5/2 P.T.O.
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17.

18.

[=15=1

[ClES
TR 91 3,6,9,12, ..., 111 % 9e] <hl T 3§ :
(A) 36 (B) 40
(C) 37 D) 30

Tsh GEY hl eTE qT 3Rl YH T U W ST hl A«E § U 1: 43 R |
at T I IAA 7

(A)  90° (B) 60°

(C) 45° (D) 30°

I(Q O AThSl o HIEH qAT Sgleh HAN: 24 TAT 12 &, Tl T HEAH @ :
(A 25 (B) 18
(C©) 20 (D) 22

o7 G&IT 19 37K 20 7FT Uq a% Sed 397 8 | § F97 1€ 77 3 577 v 31
SHUHYT (A) TIT G F1 T (R) GRT 3% 137 7377 & | 57 J%7] & T&l IR 419 157
77 B1T (A), (B), (C) 3% (D) 7 8 g7a¢ 5w |

19.

20.

(A) AR (A) 3R Th (R) GHI H&l & R @b (R), AR (A) i &
ST LT § |

(B) AfYHAT (A) 3R b (R) HT Tl &, Tg dob (R), 3 (A) hT T&l
TS 7gT HLdl & |

(C) 3feheH (A) U&l g, Tg Toh (R) T & |
(D) M (A) Terd B, 9 doh (R) T8 B |

37T (A) :  ABCD U d9@d g f5&@H DC || ABB | E a1 F A AD qef

5 AE BF
BCW UH fog 2 f6 EF || ABR | I = = 7C

T (R) : et aHee 61 TUT YT o HHIAL i @1 SFHHML ST
Sl AT O Siedt § |

1YY (A) : A 9gIG ! =TT IR a1 2 |
7% (R) : Th AT T FGUG i AT 0 B 7 |

15-30/5/2 Page 10
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18.
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The number of terms in the A.P. 3,6,9, 12, ..., 111 is:
(A) 36 (B) 40
C) 37 (D) 30

The ratio of the length of a pole and its shadow on the ground is 1 : /3.
The angle of elevation of the Sun is :

(A 90° (B) 60°
(C) 45° (D) 30°

If the mean and mode of a data are 24 and 12 respectively, then its
median is :

(A) 25 (B) 18
(C) 20 (D) 22

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

19.

20.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Assertion (A) : ABCD is a trapezium with DC || AB. E and F are points

on AD and BC respectively, such that EF || AB. Then

AE _ BF
ED FC’
Reason (R): Any line parallel to parallel sides of a trapezium divides

the non-parallel sides proportionally.

Assertion (A) : Degree of a zero polynomial is not defined.

Reason (R): Degree of a non-zero constant polynomial is 0.

15-30/5/2 Page 11 P.T.O.
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Qs @

57 GUE T 37la TG-IRI% (VSA) FHR & J97 &, Ior78 I3l & 2 37 & | 5x2=10

21.

22,

23.

24.

25.

afe fgemd 9898 p(x) = x2 - 5x + 4 & IR . AT BT, ?ﬁ =4 E_zas e
qH F1a HIT |

(a) 98 IFUTd Hra shifg faw fag P(— 4, 6), feigati A(- 6, 10) @1 B(3, - 8)
i A a7t {@r@vs i fauTiord & g |

HAYAT

(b) Tag i & g (3, 0), (6, 4) T (- 1, 3) T wHlgaTg Fryst & My
g |

WWW:

2 tan 30°. sec 60°. tan 45°
1-sin? 60°

T feodl § 60 HHIS 7, THH 48 7=t SISt &, Safh 8H YJ@ ¥ & Ao 4 1
DI AN & | I, T A, had A= HHN & WIhR Al 8, Tefh Th
SEU AN SHIA, hdd 3761 HHISI ol FEAHR Hdl 2 T 7@ av & |
fesd # @ Igmw wH FHHIS Feped T8 | TRERAT sa Sl R feeed TS

HHIS IHIA ol TR 3 |

(a) AR 3 cm Bea ama s g9 W S TE 1 TR AW WER 60° & I T
el 8, A Tdeh TANIGT hl AATg ST hITIT |

AT

(b) Tag HivT fof g & forelt = & R W @il T8 Teid@d W@ W
AT Bl & |

15-30/5/2 Page 12
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. If o and P are zeroes of the quadratic polynomial p(x) = x2 — 5x + 4, then

find the value of -~ + % _ 9ap.
(04

22. (a) Find the ratio in which the point P(— 4, 6) divides the line segment
joining the points A(— 6, 10) and B(3, — 8).
OR
(b)  Prove that the points (3, 0), (6, 4) and (- 1, 3) are the vertices of an

isosceles triangle.

23. Evaluate:

2 tan 30°. sec 60°. tan 45°
1 —sin? 60°

24, A carton consists of 60 shirts of which 48 are good, 8 have major defects
and 4 have minor defects. Nigam, a trader, will accept the shirts which
are good but Anmol, another trader, will only reject the shirts which have
major defects. One shirt is drawn at random from the carton. Find the

probability that it is acceptable to Anmol.

25. (a) If two tangents inclined at an angle of 60° are drawn to a circle of

radius 3 cm, then find the length of each tangent.
OR

(b)  Prove that the tangents drawn at the ends of a diameter of a circle

are parallel.

15-30/5/2 Page 13 P.T.O.
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59 GUE § TY-FHIT (SA) FHR & J97 &, 1979 I3 & 3 37 & | 6x3=18

26. 10 cm S31 9101 99 I Teh =19 g0 o ohg T HHhIU AT & | @1 TG <
Brea@ug 1 §3%d 1 T | (7 = 3-14 T HIfQ)

27.

fag shifSTT for Ttk g0 o afora Tk IgYS Tk TH=qys BiaT 3 |

28. (a) Tagdhifsufe V3 ws iy g @ |

AT

() g A 5 (V2 + V3] % srafra s 8, fem o 2 5 (6w
Tafd e 7 |

29. (a) dfc Uh GHTR A & UEA 14 Y 1 TTHA 1050 & IAT HHT YUYH US

10 8, d1 39 FHT Sl T 2041 U< qT ndl Ue Id shitolT |

AT

(b) Teh GHIR A 1 JIH U2 5, 3(qH U 45 94T T Ia1 ol JTha 400

2 | 35 GHIL 9T o Uel shl AT 9T H1d T I shitoly |

30. Tag Shifve fes :

sin 0 N 1+cosO
1+ cosO sin©

= 2 cosec 0

3l. TH IR H 54 %= g NH § Tk i, T 91 T%¢ & | IR § § Agesdl Th

e =1 R h1 uTResdn é 8 qAT AGTDAT Th B el (Heple hl

EIT%W%%I Y SR | fohds 9%e s 8 2

15-30/5/2 Page 14
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SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26.

27.

28.

29.

30.

31.

An arc of a circle of radius 10 cm subtends a right angle at the centre of
the circle. Find the area of the corresponding major sector. (Use m = 3:14)

Prove that the parallelogram circumscribing a circle is a rhombus.

(a) Prove that /3 is an irrational number.
OR

2
(b)  Prove that (\/5 +43 ) is an irrational number, given that /6 is

an irrational number.

(a) If the sum of the first 14 terms of an A.P. is 1050 and the first term
is 10, then find the 20t® term and the nt? term.

OR

(b)  The first term of an A.P. is 5, the last term is 45 and the sum of all
the terms is 400. Find the number of terms and the common
difference of the A.P.

Prove that :

sin 0 N 1+cosO
1+ cosO sin©O

= 2 cosec 0

A jar contains 54 marbles, each of which is blue, green or white. The
probability of selecting a blue marble at random from the jar is é, and
the probability of selecting a green marble at random is 9" How many

white marbles does this jar contain ?

15-30/5/2 Page 15 P.T.O.
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39 GV 7 -ITIT (LA) YR & J97 &, 578 Y9 & 5 37 & / 4x5=20

32. U 74 % A % U [og ¥, A1 & @ FhARI o IFaTHT IV HAM: 30° TR
60°% | I gat, fohami & 4 m 1 ST W JY, @t 7 I ISR F1a I |

33. (a) QTS AR H, AFEC=AGDBAI L 1=2,27 | Tag hiw 6
A ADE ~ A ABC.

AYAT

(b) Th AABC ! Yo{ AB 3 AC T HIfedh! AD hH: Th 314 By
A PQR %1 4s13il PQ 31 PR q91 Hifedsht PM & @AM & | g¥isy
f% A ABC ~ A PQR.

34. TH G4 Th o o AHR 61 8, 9 W T I A=IWd 8 | A SR
T 1 915 TR E HU: 35 m AT 6 m 7 AR TP hl fo¥ieh Sa. 42 m
8, A 39 T I S H TITh hIdd 1 &FHA G T | T 500 Tid a7 HieX
Sl G G de % hIad 1 eI ft Fa I |

35. (a) 2-37hi hI Th T & 3okl 1 THGA 14 3 | I 30 A& § 45 I
fearm ST, 1 37ehl o T U STd 2 | AT F1d I |

AT

(b) e T hl YT AL a1 I YT H 4 cm I g qAT QI T h &Rl
1 AMHA 400 cm? g | I ohl YT AT ST |

15-30/5/2 Page 16
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SECTION D
This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. From a point on a bridge across the river, the angles of depressions of the
banks on opposite sides of the river are 30° and 60° respectively. If the
bridge is at a height of 4 m from the banks, find the width of the river.

33. (a) Inthe given figure, AFEC=2zAGDBand £1=/2.
Prove that A ADE ~ A ABC.

OR

(b) Sides AB and AC and median AD of a A ABC are respectively
proportional to sides PQ and PR and median PM of another A PQR.
Show that A ABC ~ A PQR.

34. A tent is in the shape of a cylinder, surmounted by a conical top. If the
height and diameter of the cylindrical part are 3:5 m and 6 m, and slant
height of the top is 42 m, find the area of canvas used for making the

tent. Also, find the cost of canvas of the tent at the rate of T 500 per m2.

35. (a) A 2-digit number is such that the product of the digits is 14. When
45 is added to the number, the digits are reversed. Find the
number.

OR

(b)  The side of a square exceeds the side of another square by 4 cm

and the sum of the areas of the two squares is 400 cm?. Find the
sides of the squares.

15-30/5/2 Page 17 P.T.O.
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55 @V 4 3 YU HeJIT HTERT J97 & 1578 Jcdeb & 4 3% 5 |

Th{0T HETIA - 1

Ix4=12

36. <S4 AT GEfhd IaH Sl fafafert aaE R 39Ee S99 #HfEe R %

JREH ol HH HA 3 | A ¥ HgAh dgH | Hee fHad 2 | s= h gfgat
3R GTEUfSAT Aofed Bl & 3R 31 oo oG+ shl TuEAT %A it 8 | Th
el & Wi e fiereh 3 31 Thet afER # U SX-Tped T ferifian
TR e o1 T T | Sl o T8 g0 100 m i g ® forn mon ave
e forar e, o e TR R

g (VehUS H)

20 -40

40 - 60

60 — 80

80 — 100

ST hl &1

10

13

T o MR W, Freferfaa ye1 & 3w G
() SR feu MU AThSi 1 qIETS I FAT G ?

Page 18
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SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

Ix4=12

36. Activities like running or cycling reduce stress and the risk of mental
disorders like depression. Running helps build endurance. Children
develop stronger bones and muscles and are less prone to gain weight.
The physical education teacher of a school has decided to conduct an inter
school running tournament in his school premises. The time taken by a
group of students to run 100 m, was noted as follows :

Time
(in seconds)

20 - 40

40 — 60

60 — 80

80 — 100

Number of
students

10

13

Based on the above, answer the following questions :

(1) What is the median class of the above given data ?

Page 19

15-30/5/2
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(i) (a) < I HE ° BAT gR o T w1 {HT 19 hIT | 2
T

(b) W ST T ARSI 1 FTgAR A HIT | 2

(iii)  ToRa BET 7 60 HHUS | HH THI oA 2 1

ThTOT ALTIT - 2

37. THA dcs YNd o H9Y §g TARSH Uil § & Teh 8 1 |l 37 o AT
foTT TwTeeh Fail, T AN 3R HARSH faehedl &l T &g @ YeH
Al B | Ig UTh 94 yfafseq “aix fwren” & @ S S1am 2, S os®
ITiETiEh B 3R HASH o T T AIhIS TTqed SA1aT & | Teh ol fdehe [ooh
T 150 I s=1 a1 T 250 Ifd T 7 |

T &, 9ok o @St 4 ¥8 9 fob 300 feshe forehl @ @1 T 55,000 T BT 2 |
3uYh o YR W, ffefgd g1 & I dY
() e 3| T oMU = h G x 9UYT IAGhHT hH T y 7, A & T

feafa =1 Siomfrdie =9 & fafgu | 1

(i) (a) 39 HARSH 9k § 39 faq forad 5= 31w 2 2
AT

(b) 3T HARSH Uteh H§ 39 fad fopdd aa%es a7mu 2 2

(iii) TERSH b ¥ Ife 250 S=4 AT 100 II&H AT, a1 fhat Tl weha g1t 2 1
15-30/5/2
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(i1) (a) Find the mean time taken by the students to finish the race.

OR
(b)  Find the mode of the above given data.

(iii) How many students took time less than 60 seconds ?

Case Study - 2

Essel World is one of India’s largest amusement parks that offers a
diverse range of thrilling rides, water attractions and entertainment
options for visitors of all ages. The park is known for its iconic “Water
Kingdom” section, making it a popular destination for family outings and
fun-filled adventure. The ticket charges for the park are ¥ 150 per child

and ¥ 250 per adult.

On a day, the cashier of the park found that 300 tickets were sold and an
amount of T 55,000 was collected.
Based on the above, answer the following questions :

(1) If the number of children visited be x and the number of adults
visited be y, then write the given situation algebraically.

(i1) (a) How many children visited the amusement park that day ?
OR

(b) How many adults visited the amusement park that day ?

(111) How much amount will be collected if 250 children and 100 adults
visit the amusement park ?
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Case Study -3

38. A garden is in the shape of a square. The gardener grew saplings of
Ashoka tree on the boundary of the garden at the distance of 1 m from
each other. He wants to decorate the garden with rose plants. He chose a
triangular region inside the garden to grow rose plants. In the above
situation, the gardener took help from the students of class 10. They
made a chart for it which looks like the given figure.
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Based on the above, answer the following questions :
(1) If A is taken as origin, what are the coordinates of the vertices of
APQR?
(i1) (a) Find distances PQ and QR.
OR

(b) Find the coordinates of the point which divides the line
segment joining points P and R in the ratio 2 : 1 internally.

(iii) Find out if A PQR is an isosceles triangle.
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